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IMPORTANT NOTES:

1) Please make sure that you have written your student number, name and signature
above.

2) Check that the exam paper contains 4 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work. '

4) Please TURN OFF your cellphones.
5) Calculators are NOT ALLOWED.

6) It is not allowed to leave the exam during the first 30 minutes.




1) (8 points each) Solve the following equalities and inequalities for the unknown variable z

Express the solution sets clearly.
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2) (7 points each) Given the quadratic function y = f(z) = —2® + 5z + 14,
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b) Sketch the graph,
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3) (15 points) Find the equation of the line passing through the point P(2,5) and
perpendicular to the line 2y + 4z — 8 = 0.
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3, fz < -5
4) (24 points) For the given functions f(z) = \/% andg(z) =¢ —2+1, .if-5<z<1,
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\\_ a) Sketch the graph of tHe function g,
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